
(Not Included)

Page 1 of 18



Page 2 of 18



Page 3 of 18



Page 4 of 18



Page 5 of 18



1 25PCS 2 25PCS 3 4 32PCS3PCS 6 71PC

8

36PCS

4PCS 10PCS

0.47"

0.47" 1.5"0.98"

1.26"
0.47"

1PC

0.98"

9 6PCS 8PCS 6 Sets5PCS

1PC1PC 2PCS1PC 1PC

5 16PCS
0.59"

4PCS

DIMENSIONS:

28
.3

"

47.24"

15.6"

A 1PC B 1PC

D 1PC E F

1PC 2PCS J

K

2PCS

C 1PC

1PC

L

2PCS

2PCS

U 1PC

2PCS

G

M

1PC

1PCI

N

O P 2PCS 1PCQ 1PCR

S T

H

2PCS 2PCS 2PCS

2PCS

A

D

C
I

K

K

H
H

TS

B

E

F

Page 6 of 18

BUFFET



Get Ready
Please group boards as below

Foot

Doors
/Shelf

Body

2PCS J 2PCS1PCIH

K L2PCS M N O2PCS 2PCS 2PCS 2PCS

Drawer

2PCS2PCS U 1PCS T

A 1PC

B 1PC

F C 1PC1PC

D 1PCE 1PC P 2PCS

1PCQ

1PCR

1PCG

Page 17 of 18



x 2

STEP : 1
1 x 4PCSHardware

x 4PCSHardware 4

Dowel hole

1

STEP : 2
x 4PCSHardware
x 8PCSHardware
x 4PCSHardware

2

x 2PCSHardware
9

4

4

9

2 2

1

x 2

x 2

9

K

N

M

L
M

N

O

x 2 x 2

x 2
x 2 x 2

K
K

5

5
5

5

5

Page 18 of 18

JustinW
Typewritten Text
Use a small dab of glue into dowel hole before inserting dowels (#4).

JustinW
Line

JustinW
Typewritten Text
Please refer to page 5 on how to secure cam locks (#2) to cam bolts (#1).

JustinW
Typewritten Text

JustinW
Line



STEP : 3
1 x 17PCSHardware

x 3PCSHardware
x 20PCSHardware

Dowel hole

3
3

3

1

1
1

1 1

1

1

1

4
3

4

4

4

4

4

4

4

4

4

4

4

4

4

4

4

4

4

4

4

4

1
1

1

1

1

1

1

1

1

3

A

B

C

D

E

F

G

Page 19 of 18



STEP : 4
x 4PCSHardware

STEP : 5

x 2

x 6PCSHardware
x 6PCSHardware

7 x 12PCSHardware

x 2

Dowel hole

7
7

7

7

9

x 3PCSHardware

9

7
7

7
7

7
7

9

9

9

H

I

1

1
S

T U

x 2

x 8PCSHardware
1
4

4
4

4

4
4

Page 10 of 18



STEP : 6
x 4PCSHardware

STEP : 7

2

2

2

Dowel hole

Q

2

2

G

F

C

C
F

Page 11 of 18



STEP : 9
Hardware

STEP : 8

2

2

2

2

2

2

2

2

A

A

C

F

B

E

C

F

Hardware
x 4PCS2
x 4PCS

Dowel hole

Page 12 of 18



STEP : 10

STEP : 11

Dowel hole

R

P

P

D

C

F

B

E
5

Hardware x 8PCS5

5

5

5

5

5

5

5

Page 13 of 18



x 4PCSHardware

STEP : 12
2

Dowel hole

STEP : 13
x 5PCSHardware

S

U

T

S
T 2

2

2

2

2

2

22

D

S

S

2

2

Page 14 of 18



STEP : 14

STEP : 15

x 8PCSHardware

x 24PCSHardware 7

7
7
77

I

H

H

J

J

Page 15 of 18

JustinW
Typewritten Text
Insert shelf pins (#12) to the desired height of the shelves (#J).

JustinW
Line



Hardware

STEP : 16

Please press the slide firmly
while fixing the screw on the
side panel of drawer.

8

8

K

K

8

8
8

x 4PCS8

Page 16 of 18

JustinW
Typewritten Text
Align small holes of the drawer rails to the hole of the drawer side panel. Secure by using bolts (#8) from the inside of the drawer.

JustinW
Line



x 6 SetsHardware

x 1PCHardware
x 1PCHardware
x 1PCHardware
x 2PCSHardware
x 1PCHardware

Wall Wall

x 1PCHardware

STEP : 17

STEP : 18

Page 17 of 18



STEP : 19

Page 18 of 18


	1
	2
	3
	4
	5
	FGI-17701C25 邊櫃(3門2抽)-P6
	FGI-17701C25 邊櫃(3門2抽)-P7
	FGI-17701C25 邊櫃(3門2抽)-P8
	FGI-17701C25 邊櫃(3門2抽)-P9
	FGI-17701C25 邊櫃(3門2抽)-P10
	FGI-17701C25 邊櫃(3門2抽)-P11
	FGI-17701C25 邊櫃(3門2抽)-P12
	FGI-17701C25 邊櫃(3門2抽)-P13
	FGI-17701C25 邊櫃(3門2抽)-P14
	FGI-17701C25 邊櫃(3門2抽)-P15
	FGI-17701C25 邊櫃(3門2抽)-P16
	FGI-17701C25 邊櫃(3門2抽)-P17
	FGI-17701C25 邊櫃(3門2抽)-P18



